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1. Discuss the relationship between Average Cost (AC) and Marginal

Cost (MC) with the help of schedule and diagram. 10
OR
. How a Producer attains Equilibrium with the help of equal product
curve? 10
. What is Market? 1
What is Revenue? 1

. Define how price and output are determined in the short run under

perfect competition. 8
OR
What are the various characteristics of perfect competition? What

are the conditions of equilibrium under perfect competition
market? 6+2=8
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1. Explain the concept of Multiplier Principle? 10
OR
2. Explain the concept of Accelerator Principle? 10

3. What is Fiscal Policy? What are the various objectives of Fiscal

policy? 2+8=10
OR
4. Explain the Transaction Approach of Quantity Theory of Money.
Give two shortcoming of the theory. 8+2=10
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. Whatis a set? Give the example of finite and infinite set. 2
. Write down the proper subset of the set A= {2,4,6} 4

. What is Graph? Draw the graph of x* and x* and compare

the two. R
. Write the definition of independent variable and dependent
variable with example. 4+

. Integrate the following : 3X2=6

. 3
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1. What are the various causes for the rapid growth of population in
India? What are the remedial measures? 5+5=10
OR
2. Discuss the impact of the rapid growth of population on Indian
Economic Development. 10

3. What is Fiscal Policy? What are the objectives of Fiscal policy?

2+8=10
OR

4. What is Poverty? What are the various causes of poverty? 2+8=10
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